(2—3)

REEBARE
S T B
i’fﬂﬁﬁﬁﬁﬁgﬁkj{lﬁﬁﬁﬁﬁ%ﬁ
KREESAEL 22— #BE &
FriEih
BHEXIXEH
REREW - K4
[(EVRE]
28 | &= BE2 BREHE 1RMOZET =R BRES®
i .
Edy) Ny EIA 3
S 2 N
=0 V=Y STyoREEE ]
3
) F9L sk 1
= A I
YY) T4 EIA 3
5 .
Edy) 7IhYY EIA 14
sz 6 pn
ki ki 57O REE LB ‘
EL I R 310
B STYIRRELLEE
= 8 AL O
=0 ikl LC/MS/MS 2
CO N
B3y WA~ HPLG 1
= 0.
=0 i LC/MS/MS ]
T o
=) N S EIA 1
= I
=0 i LC/MS/MS ]
ER I
9 diddid LC/MS/MS °
s " lensnazy 27
* - LC/MS/MS
15 R
9 svnezk LC/MS/MS °
1) " lsemsy 3
= ’ LC/MS/MS
) T lRyatyon 609
= LC/MS/MS
£ e 3
= i EIA%

1/1R=




